Seat Frames and Frame Hardware

Adjustable Rear

Seat to Floor




Seat Frames and Frame Hardware

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 8881101592-NL | NLA - Frame, Aluminum, Color 1 1
A
2 1028769 Locknut (5/16-18) 1 2
3 1111949-NLA | NLA - Clamp, Footrest 1 2
4 1026911-NLA | NLA - Screw, Socket Set Cone Point (1/4-20 x 1/2") 1 2
5 40117X021 Bearing (1/2" 1.D. x 1-1/8" O.D.) 1 4
6 B 1000208-NLA | NLA - Screw, Shoulder Hex Socket Head (5/16" x 1 2
3/8", 1/4-20)
6 C 1046494 Screw, Socket Button Head (5/16-18 x 7/8") 1 2
7 1046497-NLA | NLA - Washer, Nylon (5/16 x 7/8 x 1/64") 1 4
8 1056328 Plug Button, Black (1") 1 2
9 D 1098112-NLA | NLA - Hardware, Frame, A6, Both Sides 2 1
10 See Chart #10 Seat Frames 1 1
11 1069421-NLA | NLA - Screw, Shoulder Hex Socket Head (3/8 x 1", 1 4
5/16-18)
12 1093116-NLA | NLA - Flange 1 4
13 1095638-NLA | NLA - Rod, Attaching, Adjustable Height 1 2
14 See Chart #14 Seat Adjustment Assembly 2 1
NOTE: - Configured Item

- Chairs built Before 9/16/02. Due to design improvement, this screw was replaced with part nos. 1046494 and 1028769.
- Chairs built After 9/15/02.
- Includes items 2-8.

o0 m>




Seat Frames and Frame Hardware
#10 Seat Frames

Chair 14" 15" 16" 17" 18" 19" 20"
Width Deep Deep Deep Deep Deep Deep Deep
14" 8881093166-|8881093173-|8881093180-(8881093187-|8881093194- N/A N/A
NLA NLA NLA NLA NLA
15" 8881093167-|8881093174-|8881093181-|8881093188-|8881093195- N/A N/A
NLA NLA NLA NLA NLA
16" 8881093168-|8881093175-|8881093182-(8881093189-|8881093196-|8881093203- N/A
NLA NLA NLA NLA NLA NLA
17" 8881093169-|8881093176-|8881093183-(8881093190-|8881093197-|8881093204- N/A
NLA NLA NLA NLA NLA NLA
18" 8881093170-|8881093177-|8881093184-(8881093191-|8881093198-|8881093205- N/A
NLA NLA NLA NLA NLA NLA
" 8881093185-|8881093192-|8881093199-(8881093206-
19 N/A N/A NLA NLA NLA NLA N/A
20" N/A N/A 8881093186-|8881093193-|8881093200-(8881093207-|8881093972-
NLA NLA NLA NLA NLA

Due to design improvement, when ordering a Seat Frame for chairs built Before 9/16/02 also order 2 each of item 2 Locknut (1028769) and
item 6 Screw (1046494).

Specify frame color when ordering.

#14 Seat Adjustment Assembly

Front STF 22" Wheels 24" Wheels 26" Wheels
17" 1095431-NLA 1098519-NLA N/A
18" 1095431-NLA 1095431-NLA 1098519-NLA
19" 1095432-NLA 1095431-NLA 1095431-NLA
20" 1095432-NLA 1095432-NLA 1095431-NLA
21" 1095432-NLA 1095432-NLA 1095432-NLA




